## Bid Tabulation Sheet IFB #364-20 Dawson County Paving Project for Three Collector Locations April 9, 2020

## ATLANTA PAVING & CONCRETE CONS CO

	ATLANTA PAVING & CONCRETE CONSICO						
Line Item	Description	Estimated	Unit		Total		
		Quantity			Estimated		
				Unit Cost	Cost		
Task 1 - Sv	Task 1 - Sweetwater Juno Road: Intersection of SR 53 W to the Intersection of SR 183. Approximately 4.55 Mile						
Phase 1 - 1	Traffic Control, Shoulders, Mobilization	1	LS	\$250,000.00	\$250,000.00		
	10" Cement Reclaimed Base (Includes temp raised lane						
Phase 1 - 2	markers) 26' wide	69,403	SY	\$5.00	\$347,015.00		
Phase 1 - 3	Portland Cement - 55lb/SY	1,909	TN	\$155.00	\$295,895.00		
Phase 1 - 4	19MM or B-MOD Asphalt Binder 2" Depth	6,967	TN	\$91.56	\$637,898.52		
Phase 1 - 5	1.5" 9.5MM 135lbs Type 1/H-Mix SP Asphalt Topping	4,864	TN	\$96.93	\$471,467.52		
		•	-	Subtotal	\$2,002,276.04		
Line Item	Description	Estimated	Unit		Total		
		Quantity			Estimated		
				Unit Cost	Cost		
Task 2 - Bailey Water Road: Intersection SR 136 to the Intersection of SR 52. Approximately 3.59 miles							
D1 0 1	Troffic Control Charleton Mahilingtion	1	LS	¢405 000 00	4405 000 00		
Phase 2 - 1	Traffic Control, Shoulders, Mobilization	1	LS	\$195,000.00	\$195,000.00		
Phase 2 - 1		1	LS	\$195,000.00	\$195,000.00		
	10" Cement Reclaimed Base (Includes temp raised lane	54.760		, ,			
Phase 2 - 2	10" Cement Reclaimed Base (Includes temp raised lane markers) 26' wide	54,760	SY	\$5.00	\$273,800.00		
Phase 2 - 2 Phase 2 - 3	10" Cement Reclaimed Base (Includes temp raised lane	54,760 1,505 5,497		, ,	\$273,800.00 \$233,275.00		

Phase 2 - 5	1.5" 9.5MM 135lbs Type 1/H-Mix SP Asphalt Topping	3,838	TN	\$96.93	\$372,017.34	
					\$1,578,881.85	
Line Item	Description	Estimated	Unit		Total	
		Quantity			Estimated	
				Unit Cost	Cost	
Task 3 - Hu	agh Stowers Road: Thompson Road intersection South	to Grizzle R	oad. Aj	proximately 1	.37 miles	
Phase 3 - 1	Traffic Control, Shoulders, Mobilization	1	LS	\$75,000.00	\$75,000.00	
	10" Cement Reclaimed Base (Includes temp raised lane					
Phase 3 2	markers) 26' wide	20,897	SY	\$5.00	\$104,485.00	
	Portland Cement - 55lb/SY	574	TN	\$155.00		
	19MM or B-MOD Asphalt Binder 2" Depth	2,098	TN	\$133.60		
-	1.5" 9.5MM 135lbs Type 1/H-Mix SP Asphalt Topping	1,465	TN	\$96.02	•	
Thuse 5	1.3 7.5 vivi 135103 Type 1/11 with 51 7 spinut 10pping	Subtotal	\$599,245.06			
		1000,				
TOTAL ESTIMATED COSTS FOR ALL WORK:					\$4,180,402.95	
START DATE:					June 1, 2020	
DAYS TO COMPLETE PROJECT:					165	
WARRANTY:					Yes	
		NOTE: Bidder calculated				

Awarded To: Blount Construction Co.

Awarded Date: May 21, 2020

NOTE: Bidder calculated incorrectly for Task 2, Item 3 Bidder entered \$295,895.00 Unit price prevails per IFB.

## BLOUNT CONSTRUCTION CO, INC

## C.W. MATTHEWS CONTRACTING CO, INC

Estimated	Unit			<b>Estimated</b>	Unit		Total	
Quantity			Total Estimated	Quantity			Estimated	
		<b>Unit Cost</b>	Cost			<b>Unit Cost</b>	Cost	
		TASK 1				TASK 1	K 1	
1	LS	\$242,326.98	\$242,326.98	1	LS	\$581,090.95	\$581,090.95	
69,403	SY	\$2.38	\$165,179.14	69,403	SY	\$3.30	\$229,029.90	
1,909	TN	\$174.70	\$333,502.30	1,909	TN	\$170.00	\$324,530.00	
6,967	TN	\$93.58	\$651,971.86	6,967	TN	\$71.66	\$499,255.22	
4,864	TN	\$111.77	\$543,649.28	4,864	TN	\$90.78	\$441,553.92	
		Subtotal	\$1,936,629.56			Subtotal	\$2,075,459.99	
Estimated	Unit			Estimated	Unit		Total	
Quantity			Total Estimated	Quantity			Estimated	
		<b>Unit Cost</b>	Cost			<b>Unit Cost</b>	Cost	
TASK 2						TASK 2		
1	LS	\$159,888.61	\$159,888.61	1	LS	\$483,572.81	\$483,572.81	
54,760	SY	\$2.42	\$132,519.20	54,760	SY	\$3.30	\$180,708.00	
1,505	TN	\$174.70	\$262,923.50	1,505	TN	\$170.00	\$255,850.00	

3,838	TN	\$107.43	\$412,316.34			
·		Subtotal	\$1,485,904.81			
Estimated Quantity	Unit	Unit Cost	Total Estimated Cost			
TASK 3						
1	LS	\$128,162.22	\$128,162.22			
20.007	CN	42.27	440 505 00			
20,897	SY	\$2.37	\$49,525.89			
574	TN	\$174.70	\$100,277.80			
2,098	TN	\$93.79	\$196,771.42			
1,465	TN	\$104.97	\$153,781.05			
		Subtotal	\$628,518.38			
TOTAL ESTIMATED COSTS FOR ALL WORK:		\$4,051,052.75				
S	ΓART DATE:	June 15, 2020				
DAYS TO	COMPLETE PROJECT:	165 Days				
V	VARRANTY:	5 Years				

3,838	3,838 TN		\$341,850.66			
		Subtotal	\$1,665,681.15			
Estimated Quantity			Total Estimated Cost			
		Unit Cost	Cost			
TASK 3						
1	LS	\$210,788.93	\$210,788.93			
20,897	SY	\$3.30	\$68,960.10			
574	TN	\$170.00	\$97,580.00			
2,098	TN	\$74.29	\$155,860.42			
1,465	TN	\$93.59	\$137,109.35			
		Subtotal	\$670,298.80			
TOTAL ESTIMATED COSTS FOR ALL WORK:		\$4,411,439.94				
START DATE:		July 1, 2020				
DAYS TO	DAYS TO COMPLETE					
	PROJECT:	165 Calendar Days				
V	VARRANTY:	5 Years				